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Answers to the practice problem set for the final exam.

F.2

F.3

(a) V(w) = 5

(b) V(jw) = Gatwp

(c) V(jw) = 5oy

(@) V() = sam + s

(@) Vijuw) = =2

(f) V(jw) = (]wibp

(&) V(jw) = —2me~"u(w)

(a) z(t) = g cos wt — - sin 2wt

(b) 2(£) = 0.55(t — 4) + 0.56(t + 4)

(c) z(t) = e 23y (t — 1.5) — e 23yt
(d) z(t) = 1.5(e 2 u(t) + e *u(t))

(a) X(jw) = —4jejw75in2ww/2

(6) X(juw) = 22002 oz oS0

F.4 y(t) = 2 cos wyt + 3 sin 2wt

F.5

—2.5)

(a) ws (Nyquist frequency or rate)=8, 0007

(b) ws (Nyquist frequency or rate)=2, 0007



